LA

(a) f(O)=0
(b) f(-a)=-f(a)
(c) f(ab)=a- f(b)
(d) f(a+b)= f(a)+ f(b)
(e) f(ab)= f(a)- f(b)
a b

1. fE=1Q2)+1@O

(a) f(x)=2x-5 f(2+3)  f()+1(3
f(2+3)=f(2+ (3

(b) f(x) a
b f(a+b) = f(a)+ f(b)

2. f(—x)=-1(x)

(a) f(X) a b
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(i) 1O=0

(i)  fa=-1(a)

(iii) f(ab)=a- f(b)

(iv)  f(ab)=1f(a) f(b)
(v) f(a+b)=f(a)+ f(b)

(b)
f(x) =3x
f(-a)=-1(a) f(-a)=—-f(a) f(x)=x
f(-a)=-"1(a)
(c)
f(X)=(x-8)(x—-4)
f(2x4)=12)xf(4)=0 f(2x3) = f(2)x (3
f(ab) = f(a)- f(b)
f(x)=sinx f (360° + 30°) = f(360°) + f(30°)
f (300° +30°) = f(300°) + f(30°)
f(a+b) = f(a)+ f(b)
4. F()
f-x
f(a+b) = f(a)+ f(b) f(a-b)= f(a)- f(b)
5. 2
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1.
X=-3 | Xx=-2 x=0 X=2 Xx=3 x=5 X=6
(i) f(x)=x?
(i) f(x)=x°
(i) f(x)=x-1
(iv) f(x) =2x
(V) f(x)=x*+3
2. (a) f(x)=x° f(2 13 f(5)

f(5) = f(2)+f@3)

(b) a b
f(a+h)= f(a)+ f(b)

(a) f(0)=0
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(b) f(-a)=-f(a)

(c) f(ab)=a-f(b)

(c) f(ab)=1(a)- f(b)
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f(X)

1.

(a)

(b)

(c)

(d)

(e)

()

(9)

(h)

(1)

(1)

(k)

(h

9(x)

—f(2)=f(-2)
f(m)+ f(n)=f(m+n)
ga+1l) =g(a)+1

a+ f(b) = f(a+b)
g(@)—-g(b)=g(a-b)
f(m+n) = f(n+m)
fa-1) = f(l-a)

f (ab) = f (ba)

9(2a) = g(a)x 2

9(5b) = 59(b)

f(mn) = f(m)x f(n)

[f@] =f(a) f(a)

(m) [f@] =f(@@)

o o o o o o o o o oo o oo oo

o o o o o o o o o o o g oo
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(a) f(0)=0

-

1
© f(E]: f(a)

(b)

(d)

9 _
a(y)

{3}
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(a) a=>b f(a) = f(b)

(b) f(a) = f(b) a=h
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1. 60
2.
1
1.
X=-3 X=-2 x=0 X=2 X=3 Xx=5 X=6
(i) f(x)=x° 9 4 0 4 9 25 36
(i) f(x)=x° -27 -8 0 8 27 125 216
@ii) f(x)=x-1 -4 -3 -1 1 2 4 5
(iv) f(x) = 2x -6 -4 0 4 6 10 12
(V) f(x)=x"+3 12 7 3 7 12 28 39
2. (a)
(b)
3. (a)
f(xX)=x-1
f(0)=-1
f(0)=0
(b)
f(x)=x°
f(-2)=4
-f(2=-4
f(-2)=—-1(2
(c)
f(x)=x-1
f(2x3) = f(6)
=5
2x f(3)=2x2
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=4
f(2x3) £ 2x f (3)

(d)
f(x) = 2x
f(2x3) = (6)
=12
f(2)-f(3)=4x6
=24
f(2x3) % f(2)- (3
2
(a) —f(2)=f(-2) O M f(X) = X
(b) f(m)+ f(n)=f(m+n) L] M f(x)=x> m=3 n=4
(c) g(a+d)=g(a)+1 [] M g(x)=3x a=2
(d) a+f(b)=f(a+h) O M f(x)=3x a=2 b=3
(e) 9(a)-g(b)=g(a-b) O M g(x)=x a=2 b=3
(f) f(m+n)=f(n+m) M ]
(g) f(a-1)=f@1-a) [] M f(x)=3x a=3
(h) f(ab) = f(ba) M O
(i) g(2a)=g(a)x2 ] M g(x)=x* a=3
(i) 9(5b) =5g(b) O M g(¥)=x* b=2
(k) f(mn)=f(m)x f(n) L] M f(x)=2x m=2 n=3
() [f@f=f@- f@) v ]
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(m) [f@] = f(@% O M  f(x)=2x a=3

2. (a)
f(X)=2x+1
£(0) = 2(0)+1
=1+0
f(x) = X2 f(0)=0
f(X)=mx+c g(x) = ax* +bx+c
a b c m f(0)=0
(b)
g(x) =2x+3
9(3 2x3+3
g(6) 2x6+3
_3
15
_3
5
3 1
Q(E)ZQ(E)
:2><1+3
2
=4
93 3
g(6)¢g(6)
_e 9B (é)
g(x) =x a(6) 95
f(X)=mx+c
g(x) = ax® +bx+c a b ¢ m
@ig[%
a(y) y
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3.

(c)

(d)
f(X)=x+2
f(ijzhzzzi
3) 3 3
f) 1+2
(3 3+2

3

@
f(3)

(a)
(b)
f(3) = f(-3)

f(x) = x*
3#-3

f(3)=9

f(-3) =9

(a)
(b)

f(x)=ax f(x)=ax’

f(X)

f(x)=ax®
f (X) = ax
f(-b)=—-f(b)

a

f(x)=ax®

f(x)=ax’

f(0)=0

eg6_functgraphs va ¢ 051109

11




(c) f(¥)=mx m f(ab) = a- f (b)
(d) f()=mx m f(a+b) = f(a)+ f(b)
(e) f(x)=x f(X)=x> f(X)=x° f(ab) = f(a)- f (b)
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